EARAZROREIERT — 2 N—XBISY —F 2021548108 () 2[@EIBR##5H

el Y 5% 3 REF B ‘ [x1z] # ‘ [eEmsm]  — | &4 (&) 18000 B
[A&4£] 1 7% :5,100,000 2 3% :2,000,000 M 33 :1,300,000 M 43 :770,000 @ 5 % :510,000 [
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
N MEZBEZ -55. —1-1- . . AR (EXR)
N MRS "3 s B Rl el I A T et PR
L:hLrTIv el B:eEX2S ML hid  HEER
o N [SiligN31 :55. —7-6— . . TFEZ (BER)
2l5l8 S ELE UL 4 3 e 1(;5/54)2 6-7-6-5 |37.4| 87.3 | 1 :ﬁsg) sl
RNTVIRTA w94 UT— BEIFHIT %3 L ARAYUS
NN R AEAM 00— MKER (ER)
317l10| €771 4 3 BEx 1(5;7 3-2-2-1 |38.4| 82.4 | 2 (5_120> ﬁi@is&%
LibhTobL R BI-TrFA> =L e
S0 7 43 | HAM— 1:56.3 6-8-7-7 |38.2| 77.6 | 4 464 | ARG (RR)
4 10 AENV—IT7v7T 56.0 (31/2) (-6) (%) >>¥>957
¥ ovd /€% BAEU—Fvov T peleie]
cs— i3 | A 1:56.5 2-2-2-3 [39.2| 75.5| 5 452 | /MR (RR)
5 6 A= TI— 56.0 (1 1/4) +2) BDAETF
RikyA—42IvIT B:T7IRxAXT71T7V)— ke
3 SERER :56. —-4-4- . . aETF (ER)
617113 XA gy i1 @Y 56.0 1(516)7 i3 1.2 798 ! (4:54) *’Azk;?—ﬁ
L:/FUR S BixA2ayynsn = re )
N - . =E : -13-13- EAXE
7 7/ =TnFa5o 8 i3 56150*2 1.(516>.9 13-13-13-10| 37.5 | 72.3 | 8 462 Ei}w@%)
RSTU—FA4 BFUESUS | &3z
slglig| ¥>Z1XF7NUT # 3 | NERE 1or.0 9-10-8-8 | 38.6 | 71.6 | 12 (410) ;ﬁ%ﬁiﬁ (%)
Ln—ErIy— B:¥rF-O-X Rab ke ]
. = . N WERSE :57. ~4-4- . . EESE (ER)
o o | Y51 xT A H— 3 B 1(35/7‘”1 4-4-4-5 | 39.5| 70.6 | 10 ;1_6;58) e
E-URX B:TI53R-FA4I— YA 785
S BEHZ :58. -8-10- . . NftEE (ER)
100111 ZF—T84H 4 3 56_0% 1(558)0 9-8-10-11 | 39.0 | 63.4 | 14 (::j) it
R:TITIIRATLR B:RF—UX14T7 RIS
SRS 4 3 | Sl 1:58.2 13-13-11-11] 39.0 | 61.7 | 13 | 500 |®E—%F (RX)
1115/ 9 N> T gE.O (11/2) +2) REE
S HATAT v — BNHIN FyrEF T —L
- o EHB . —10-8- HFHEET (EX)
lglis| 7« T k- i 3 o 1(/75?:)3 9-10-8-9 |39.8| 61.0 | 11 <4+726) ?JEE%ET
R:FATATv— B:d—zd LA 94577 — 1
s = JURKAZ :59. -10-13- . . hTFIth (ER)
i 3| 7A5—7F5>2 i3 PR 1 (559) 2 9-10-13-13 | 39.8 | 53.6 | 15 :0) Ry
L:NZ—ka1—-X B:AFXTT7TUUZR NRYE
. KEFHRAR :00. -15-15- . . ERET (ER)
M ;- BIEESZ are E #H 3 Pt 2(060)2 13-15-15-15| 39.8 | 46.2 | 6 (4E0) i
LR IALT B4 74—-X3IX b EHEAS
TSN t 3 | B 2:00.2 6-4-11-14 | 40.7 | 47.1 | 9 468 | =ERM (RR)
" : HEELCETRES ) Y ) Co | @ n-Fr-2557
L:0-KH+a7 B:7rE—-271L TATAT7—L
@ 21 L
£ 50.4-38.0
NA> 24 L | 13.0-11.7-14.2-12.9-12.9-12.4-12.1-12.7-13.2
® 1—F—@EBIERL
13—F— |4,6,12(2,13)(5,8,10) (1,3,14,15)-(7,11,9)
2a=5F= 4(6,12) (2,5,13)8(1,10) (3,14,15) (7,9) 11
Ja=77= (x4,6,12) (2,13)8,10-(14,15)-1(5,9) (3,7)=11
43—+ — (4,%12)-(6,13) (2,8)10-14,15-7(1,9)-3,5-11
[ /N
B OB 4 6400 | | 741 K 4-8 210M | | # = 3-5 430 | | =R 4-8-12 570
# B 4 140M 4-12 390M B = 4-8 550 EE 4-8-12 4,490
8 110 8-12 190H B H 4-8 1,400
12 120/

ARICOVWTRDTEEERROODE. TR LIV,



